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2. Corrections to HSFN for testing with CAT-M1 UE
Change 1 – Correction to function ‘fl_EUTRA_7_2_3_5_TestBody’
	Function name
	fl_EUTRA_7_2_3_5_TestBody ()

	Reason for change
	In the current TTCN implementation for testcases 7.2.3.5 the TTCN updates the SFN with v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024. However, if the SFN is incremented to 0, the TTCN does not increase the HSFN. 
This needs to be implemented.

	Summary of change
	After the assignment of v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024, performed a check for the value of v_Timing.SFN.Number to be 0. 

In case it is 0, then the HSFN is being incremented by 1.

	TTCN module
	LTE\7_2\RLC_AM_Testcases.ttcn

	MCC160 Comment
	


Before  change
…
function fl_EUTRA_7_2_3_5_TestBody(inout RLC_SS_State p_RLC_Rec)
    runs on EUTRA_PTC
  { ……
    //@siclog "Step 2" siclog@

    // The SS transmits an AMD PDU containing the second half (10 bytes) of SDU#1 and

    // the first half (10 bytes) of SDU#2 in its data field to the UE.

    // LI associated with PDU#2 has a value > PDU size, i.e. > 100.

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 10, 10);

    v_RLC_Data2 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU2], 0, 10);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170538 cat M1 timing sic@

    f_TxAMD_PDU_List(p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_NoPoll,

                     tsc_FI_MiddleOfSDU,

                     {v_RLC_Data1, v_RLC_Data2},

                     tsc_LI_Error);

    //@siclog "Step 3" siclog@

    // The SS transmits an AMD PDU containing the second half (10 bytes) of SDU#2

    // and the first half (10 bytes) of SDU#3 in its data field to the UE.

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU2], 10, 10); // @sic R5-153229 sic@

    v_RLC_Data2 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3], 0, 10); // @sic R5-153229 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170538 cat M1 timing sic@

    f_TxAMD_PDU_List(p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_NoPoll,

                     tsc_FI_MiddleOfSDU,

                     {v_RLC_Data1, v_RLC_Data2});

    //@siclog "Step 4" siclog@

    // The SS transmits an AMD PDU containing the second half (10 bytes)

    // of SDU#3 in its data field to the UE.

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3], 10, 10); // @sic R5-153229 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170538 cat M1 timing sic@

     f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_EndOfSDU,

                   v_RLC_Data1);
……
  }
…
After change
…
function fl_EUTRA_7_2_3_5_TestBody(inout RLC_SS_State p_RLC_Rec)
    runs on EUTRA_PTC
  { 
    ……
    //@siclog "Step 2" siclog@

    // The SS transmits an AMD PDU containing the second half (10 bytes) of SDU#1 and

    // the first half (10 bytes) of SDU#2 in its data field to the UE.

    // LI associated with PDU#2 has a value > PDU size, i.e. > 100.

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 10, 10);

    v_RLC_Data2 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU2], 0, 10);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170538 cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_PDU_List(p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_NoPoll,

                     tsc_FI_MiddleOfSDU,

                     {v_RLC_Data1, v_RLC_Data2},

                     tsc_LI_Error);

    //@siclog "Step 3" siclog@

    // The SS transmits an AMD PDU containing the second half (10 bytes) of SDU#2

    // and the first half (10 bytes) of SDU#3 in its data field to the UE.

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU2], 10, 10); // @sic R5-153229 sic@

    v_RLC_Data2 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3], 0, 10); // @sic R5-153229 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170538 cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_PDU_List(p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_NoPoll,

                     tsc_FI_MiddleOfSDU,

                     {v_RLC_Data1, v_RLC_Data2});

    //@siclog "Step 4" siclog@

    // The SS transmits an AMD PDU containing the second half (10 bytes)

    // of SDU#3 in its data field to the UE.

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3], 10, 10); // @sic R5-153229 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170538 cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_EndOfSDU,

                   v_RLC_Data1);  
……
  }

..
Change 2 – Correction to function ‘fl_EUTRA_7_2_3_13_TestBody’
	Function name
	fl_EUTRA_7_2_3_13_TestBody ()

	Reason for change
	In the current TTCN implementation for testcases 7.2.3.13 the TTCN updates the SFN with v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024. However, if the SFN is incremented to 0, the TTCN does not increase the HSFN. 

This needs to be implemented.

	Summary of change
	After the assignment of v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024, performed a check for the value of v_Timing.SFN.Number to be 0. 

In case it is 0, then the HSFN is being incremented by 1.

	TTCN module
	LTE\7_2\RLC_AM_Testcases.ttcn

	MCC160 Comment
	


Before  change
…

function fl_EUTRA_7_2_3_13_TestBody(inout RLC_SS_State p_RLC_Rec)
    runs on EUTRA_PTC
  { ……

//@siclog "Step 2" siclog@

    // The SS transmits 4 AMD PDUs with P=0 and SN=0, 1, 2 and 4.

    // The SS record time TA when AMD PDU 5 (with SN=4) is sent.

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU3);

    p_RLC_Rec.AM_VTS := 4;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU5);

    v_SubFrameTimingTa := f_EUTRA_TimingInfoSubframeOffsetAdjust (v_Timing,

                                                                  v_Subframe); // @sic R5s110785 sic@
……

//@siclog "Step 4" siclog@

    // 100 ms after the Status Report received at Step 3, the SS sends 4 AMD PDUs with P=0 and SN=5, 6, 8 and 9.

    v_Timing := f_EUTRA_TimingInfoAdd(v_SubFrameTimingTb, 100);  // @sic R5s110019 sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU6);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU7);

    p_RLC_Rec.AM_VTS := 8;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU9);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU10);
……

//@siclog "Step 7" siclog@

    // After 300ms the SS transmits 3 AMD PDUs with SN=3, 7 and 9. The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=9.

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 300);  // @sic R5s110019, R5s110474 sic@

    p_RLC_Rec.AM_VTS := 3;

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU4 );

    p_RLC_Rec.AM_VTS := 7;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU8 );

    p_RLC_Rec.AM_VTS := 9;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_Poll,

                  tsc_RLC_SDU10 );

    //@siclog "Step 7A" siclog@

    // The SS waits for 40 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 40 bits (UL Grant Allocation type 3). (Note 2)

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 40); // @sic R5s180150 Cat M1 timing 60->40 sic@

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 8A" siclog@

    // In the next valid subframe following the one scheduled in step 7A the SS assigns 7 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_EUTRA_PeriodicCyclicULGrantTransmission( eutra_Cell1,

                                               cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                               15, 3, 10, 7);  // @sic R5s110394, R5-156157 sic@
……

//@siclog "Step 13" siclog@

    // The SS transmits 4 AMD PDUs with P=0 and SN=11, 12, 13 and 15.

    // The SS records time TF when AMD PDU 16 (with SN=15) is sent.

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);

    v_Timing.Subframe.Number := v_Subframe;

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU12);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

  f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU13);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU14);

    p_RLC_Rec.AM_VTS := 15;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU16);

    v_SubFrameTimingTf := f_EUTRA_TimingInfoSubframeOffsetAdjust (v_Timing,

                                                                  v_Subframe); // @sic R5s110785 sic@

……

//@siclog "Step 15" siclog@

    // 100 ms after the Status Report received at Step 14, the SS sends 4 AMD PDUs with P=0 and SN=16, 17, 19 and 20.

    v_Timing := f_EUTRA_TimingInfoAdd(v_SubFrameTimingTg, 100);  // @sic R5s110019 sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU17);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU18);

    p_RLC_Rec.AM_VTS := 19;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU20);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU21);

……

//@siclog "Step 17" siclog@

    // The SS stops the UL default grant transmission

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );

    //@siclog "Step 18" siclog@

    // After 450ms the SS transmits 3 AMD PDUs with SN=14, 18, 20.

    // The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=20.

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 450);  // @sic R5s110019, R5s110474 sic@

    p_RLC_Rec.AM_VTS := 14;

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU15 );

    p_RLC_Rec.AM_VTS := 18;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU19 );

    p_RLC_Rec.AM_VTS := 20;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_Poll,

                  tsc_RLC_SDU21 );

    //@siclog "Step 18A" siclog@

    // The SS waits for 40 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 40 bits (UL Grant Allocation type 3). (Note 3)

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 40); // @sic R5s180150 Cat M1 timing 60->40 sic@

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 19A" siclog@

    // In the next valid subframe following the one scheduled in step 7A the SS assigns 7 UL grants of size 840 bits (UL Grant Allocation type 2) with a time spacing of 10 ms.

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    f_EUTRA_PeriodicCyclicULGrantTransmission( eutra_Cell1,

                                               cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                               15, 3, 10, 7);  // @sic R5s110394, R5s180593 sic@
……

  }
…
After change
…

function fl_EUTRA_7_2_3_13_TestBody(inout RLC_SS_State p_RLC_Rec)
    runs on EUTRA_PTC
  { 
……

//@siclog "Step 2" siclog@

    // The SS transmits 4 AMD PDUs with P=0 and SN=0, 1, 2 and 4.

    // The SS record time TA when AMD PDU 5 (with SN=4) is sent.

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU3);

    p_RLC_Rec.AM_VTS := 4;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU5);

    v_SubFrameTimingTa := f_EUTRA_TimingInfoSubframeOffsetAdjust (v_Timing,

                                                                  v_Subframe); // @sic R5s110785 sic@
……

//@siclog "Step 4" siclog@

    // 100 ms after the Status Report received at Step 3, the SS sends 4 AMD PDUs with P=0 and SN=5, 6, 8 and 9.

    v_Timing := f_EUTRA_TimingInfoAdd(v_SubFrameTimingTb, 100);  // @sic R5s110019 sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU6);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU7);

    p_RLC_Rec.AM_VTS := 8;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU9);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU10);
……

//@siclog "Step 7" siclog@

    // After 300ms the SS transmits 3 AMD PDUs with SN=3, 7 and 9. The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=9.

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 300);  // @sic R5s110019, R5s110474 sic@

    p_RLC_Rec.AM_VTS := 3;

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU4 );

    p_RLC_Rec.AM_VTS := 7;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU8 );

    p_RLC_Rec.AM_VTS := 9;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_Poll,

                  tsc_RLC_SDU10 );

    //@siclog "Step 7A" siclog@

    // The SS waits for 40 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 40 bits (UL Grant Allocation type 3). (Note 2)

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 40); // @sic R5s180150 Cat M1 timing 60->40 sic@

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 8A" siclog@

    // In the next valid subframe following the one scheduled in step 7A the SS assigns 7 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_EUTRA_PeriodicCyclicULGrantTransmission( eutra_Cell1,

                                               cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                               15, 3, 10, 7);  // @sic R5s110394, R5-156157 sic@
……

//@siclog "Step 13" siclog@

    // The SS transmits 4 AMD PDUs with P=0 and SN=11, 12, 13 and 15.

    // The SS records time TF when AMD PDU 16 (with SN=15) is sent.

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);

    v_Timing.Subframe.Number := v_Subframe;

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU12);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU13);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU14);

    p_RLC_Rec.AM_VTS := 15;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU16);

    v_SubFrameTimingTf := f_EUTRA_TimingInfoSubframeOffsetAdjust (v_Timing,

                                                                  v_Subframe); // @sic R5s110785 sic@

……

//@siclog "Step 15" siclog@

    // 100 ms after the Status Report received at Step 14, the SS sends 4 AMD PDUs with P=0 and SN=16, 17, 19 and 20.

    v_Timing := f_EUTRA_TimingInfoAdd(v_SubFrameTimingTg, 100);  // @sic R5s110019 sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU17);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU18);

    p_RLC_Rec.AM_VTS := 19;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU20);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU21);

……

//@siclog "Step 17" siclog@

    // The SS stops the UL default grant transmission

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );

    //@siclog "Step 18" siclog@

    // After 450ms the SS transmits 3 AMD PDUs with SN=14, 18, 20.

    // The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=20.

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 450);  // @sic R5s110019, R5s110474 sic@

    p_RLC_Rec.AM_VTS := 14;

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU15 );

    p_RLC_Rec.AM_VTS := 18;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU19 );

    p_RLC_Rec.AM_VTS := 20;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_Poll,

                  tsc_RLC_SDU21 );

    //@siclog "Step 18A" siclog@

    // The SS waits for 40 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 40 bits (UL Grant Allocation type 3). (Note 3)

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_TimingInfoAdd(v_Timing, 40); // @sic R5s180150 Cat M1 timing 60->40 sic@

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 19A" siclog@

    // In the next valid subframe following the one scheduled in step 7A the SS assigns 7 UL grants of size 840 bits (UL Grant Allocation type 2) with a time spacing of 10 ms.

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s180150 Cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_EUTRA_PeriodicCyclicULGrantTransmission( eutra_Cell1,

                                               cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                               15, 3, 10, 7);  // @sic R5s110394, R5s180593 sic@
……
  }

..
Change 3 – Correction to function ‘fl_EUTRA_7_2_3_14_TestBody’
	Function name
	fl_EUTRA_7_2_3_14_TestBody ()

	Reason for change
	In the current TTCN implementation for testcases 7.2.3.14 the TTCN updates the SFN with v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024. However, if the SFN is incremented to 0, the TTCN does not increase the HSFN. 

This needs to be implemented.

	Summary of change
	After the assignment of v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024, performed a check for the value of v_Timing.SFN.Number to be 0. 

In case it is 0, then the HSFN is being incremented by 1.

	TTCN module
	LTE\7_2\RLC_AM_Testcases.ttcn

	MCC160 Comment
	


Before  change
…

function fl_EUTRA_7_2_3_14_TestBody(inout RLC_SS_State p_RLC_Rec)
    runs on EUTRA_PTC
  { ……

//@siclog "Step 11" siclog@

    // The SS transmits an AMD PDU to the UE.

    // This PDU contains the 2nd part of SDU#5, and the 1st  part of SDU#6.

    p_RLC_Rec.AM_VTS := 4; // SN to be used for the next PDU

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5], v_SDU5_1stPart, v_SDU5_2ndPart); // @sic R5s170355 sic@

    v_RLC_Data2 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU6], 0, v_SDU6_1stPart); // @sic R5s170355 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170538 cat M1 timing sic@

   f_TxAMD_PDU_List(p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_NoPoll,

                     tsc_FI_MiddleOfSDU,

                     {v_RLC_Data1, v_RLC_Data2});

    //@siclog "Step 12" siclog@

    // The SS transmits an AMD PDU to the UE.

    // This PDU carries SDU#4 and the 1st part of SDU#5.

    p_RLC_Rec.AM_VTS := 3; // SN to be used for the next PDU

    // 32 respectively 22 octets

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU4], 0, v_PDCP_SDU_SizeArray[tsc_RLC_SDU4]+2); // @sic R5s170355 sic@

    v_RLC_Data2 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5], 0, v_SDU5_1stPart); // @sic R5s170355 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170538 cat M1 timing sic@

   f_TxAMD_PDU_List(p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_NoPoll,

                     tsc_FI_StartOfSDU,

                     {v_RLC_Data1, v_RLC_Data2});

……

//@siclog "Step 19" siclog@

    // The SS transmits an AMD PDU to the UE.

    // This PDU carries SDU#7.

    // 32 octets

    p_RLC_Rec.AM_VTS := 6; // SN to be used for the next PDU

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170538 cat M1 timing sic@

    f_TxAMD_SDU(p_RLC_Rec,

                cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                tsc_P_NoPoll,

                tsc_RLC_SDU7);
……
  }
…
After change
…

function fl_EUTRA_7_2_3_14_TestBody(inout RLC_SS_State p_RLC_Rec)
    runs on EUTRA_PTC
  { 
    ……

//@siclog "Step 11" siclog@

    // The SS transmits an AMD PDU to the UE.

    // This PDU contains the 2nd part of SDU#5, and the 1st  part of SDU#6.

    p_RLC_Rec.AM_VTS := 4; // SN to be used for the next PDU

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5], v_SDU5_1stPart, v_SDU5_2ndPart); // @sic R5s170355 sic@

    v_RLC_Data2 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU6], 0, v_SDU6_1stPart); // @sic R5s170355 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170538 cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_PDU_List(p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_NoPoll,

                     tsc_FI_MiddleOfSDU,

                     {v_RLC_Data1, v_RLC_Data2});

    //@siclog "Step 12" siclog@

    // The SS transmits an AMD PDU to the UE.

    // This PDU carries SDU#4 and the 1st part of SDU#5.

    p_RLC_Rec.AM_VTS := 3; // SN to be used for the next PDU

    // 32 respectively 22 octets

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU4], 0, v_PDCP_SDU_SizeArray[tsc_RLC_SDU4]+2); // @sic R5s170355 sic@

    v_RLC_Data2 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5], 0, v_SDU5_1stPart); // @sic R5s170355 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170538 cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_PDU_List(p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_NoPoll,

                     tsc_FI_StartOfSDU,

                     {v_RLC_Data1, v_RLC_Data2});

……

//@siclog "Step 19" siclog@

    // The SS transmits an AMD PDU to the UE.

    // This PDU carries SDU#7.

    // 32 octets

    p_RLC_Rec.AM_VTS := 6; // SN to be used for the next PDU

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170538 cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU(p_RLC_Rec,

                cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                tsc_P_NoPoll,

                tsc_RLC_SDU7);
……
  }

..
Change 4 – Correction to function ‘fl_EUTRA_7_2_3_15_TestBody’
	Function name
	fl_EUTRA_7_2_3_15_TestBody ()

	Reason for change
	In the current TTCN implementation for testcases 7.2.3.15 the TTCN updates the SFN with v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024. However, if the SFN is incremented to 0, the TTCN does not increase the HSFN. 

This needs to be implemented.

	Summary of change
	After the assignment of v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024, performed a check for the value of v_Timing.SFN.Number to be 0. 

In case it is 0, then the HSFN is being incremented by 1.

	TTCN module
	LTE\7_2\RLC_AM_Testcases.ttcn

	MCC160 Comment
	


Before  change
…

function fl_EUTRA_7_2_3_15_TestBody(inout RLC_SS_State p_RLC_Rec)
    runs on EUTRA_PTC
  { ……

//@siclog "Step 20" siclog@

    // The SS transmits one AMD PDU segment containing 50 bytes of SDU#6 in its data field to the UE.

    // This AMD PDU segment carries part 1 of AMD PDU#6, which contained SDU#6 (100 bytes) in its data field.

    // SO=0 and LSF=0.

    p_RLC_Rec.AM_VTS := 5;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU6], 0, 50);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024; // @sic R5s180255 sic@

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_NoPoll,

                        tsc_FI_StartOfSDU,

                        tsc_LSF_NotLast,

                        0,

                        v_RLC_Data1);

    //@siclog "Step 21" siclog@

    // The SS transmits one RLC PDU of 50 data bytes to the UE.

    // This AMD PDU segment carries part 1 of AMD PDU#5, which contained SDU#5 (100 bytes) in its data field.

    // SO=0 and LSF=0.

    p_RLC_Rec.AM_VTS := 4;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5], 0, 50);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024; // @sic R5s180255 sic@

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_NoPoll,

                        tsc_FI_StartOfSDU,

                        tsc_LSF_NotLast,

                        0,

                        v_RLC_Data1);
……
  }
…
After change
…

function fl_EUTRA_7_2_3_15_TestBody(inout RLC_SS_State p_RLC_Rec)
    runs on EUTRA_PTC
  { 
……

//@siclog "Step 20" siclog@

    // The SS transmits one AMD PDU segment containing 50 bytes of SDU#6 in its data field to the UE.

    // This AMD PDU segment carries part 1 of AMD PDU#6, which contained SDU#6 (100 bytes) in its data field.

    // SO=0 and LSF=0.

    p_RLC_Rec.AM_VTS := 5;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU6], 0, 50);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024; // @sic R5s180255 sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_NoPoll,

                        tsc_FI_StartOfSDU,

                        tsc_LSF_NotLast,

                        0,

                        v_RLC_Data1);

    //@siclog "Step 21" siclog@

    // The SS transmits one RLC PDU of 50 data bytes to the UE.

    // This AMD PDU segment carries part 1 of AMD PDU#5, which contained SDU#5 (100 bytes) in its data field.

    // SO=0 and LSF=0.

    p_RLC_Rec.AM_VTS := 4;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5], 0, 50);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024; // @sic R5s180255 sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_NoPoll,

                        tsc_FI_StartOfSDU,

                        tsc_LSF_NotLast,

                        0,

                        v_RLC_Data1);    

……
  }

..
Change 5 – Correction to function ‘fl_EUTRA_7_2_3_18_TestBody’
	Function name
	fl_EUTRA_7_2_3_18_TestBody ()

	Reason for change
	In the current TTCN implementation for testcases 7.2.3.18 the TTCN updates the SFN with v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024. However, if the SFN is incremented to 0, the TTCN does not increase the HSFN. 

This needs to be implemented.

	Summary of change
	After the assignment of v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024, performed a check for the value of v_Timing.SFN.Number to be 0. 

In case it is 0, then the HSFN is being incremented by 1.

	TTCN module
	LTE\7_2\RLC_AM_Testcases.ttcn

	MCC160 Comment
	


Before  change
…

function fl_EUTRA_7_2_3_18_TestBody(inout RLC_SS_State p_RLC_Rec)
    runs on EUTRA_PTC
  { ……

    /@siclog "Step 5" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#1 (AMD PDU#1 carries SDU#1) containing the last

    // 17 bytes of SDU#1 in its data field with the P-bit set. SO=17 and LSF=1. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 0;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170572 cat M1 timing sic@

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 17, 17); // @sic R5-174485 sic@

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_EndOfSDU,

                        tsc_LSF_Last,

                        17, // @sic R5-174485 sic@

                        v_RLC_Data1);
……

//@siclog "Step 16" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#4 (AMD PDU#4 carries SDU#5) containing the

    // first 17 bytes of SDU#5 in its data field. SO=0 and LSF=0. No header extension part is provided.

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170572 cat M1 timing sic@

    DRB.send (cas_DRB1_RLCAmDataReq (eutra_Cell1,

                                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                     p_RLC_Rec.AMD_PDU));

    //@siclog "Step 17" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#4 (AMD PDU#4 carries SDU#5) containing the last

    // 17 bytes of SDU#5 in its data field, with the P-bit set. SO=17 and LSF=1. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 3;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5], 17, 17); // @sic R5-174485 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_EndOfSDU,

                        tsc_LSF_Last,

                        17, // @sic R5-174485 sic@

                        v_RLC_Data1);
……

//@siclog "Step 23" siclog@

    // The SS transmits one AMD PDU containing SDU#6 (34 bytes) in its data field, with the P-bit set.

    p_RLC_Rec.AM_VTS := 4;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_Poll,

                 tsc_RLC_SDU6);

……

  }
…
After change
…

function fl_EUTRA_7_2_3_18_TestBody(inout RLC_SS_State p_RLC_Rec)
    runs on EUTRA_PTC
  { 
    ……

    /@siclog "Step 5" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#1 (AMD PDU#1 carries SDU#1) containing the last

    // 17 bytes of SDU#1 in its data field with the P-bit set. SO=17 and LSF=1. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 0;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170572 cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 17, 17); // @sic R5-174485 sic@

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_EndOfSDU,

                        tsc_LSF_Last,

                        17, // @sic R5-174485 sic@

                        v_RLC_Data1);
……

//@siclog "Step 16" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#4 (AMD PDU#4 carries SDU#5) containing the

    // first 17 bytes of SDU#5 in its data field. SO=0 and LSF=0. No header extension part is provided.

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170572 cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    DRB.send (cas_DRB1_RLCAmDataReq (eutra_Cell1,

                                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                     p_RLC_Rec.AMD_PDU));

    //@siclog "Step 17" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#4 (AMD PDU#4 carries SDU#5) containing the last

    // 17 bytes of SDU#5 in its data field, with the P-bit set. SO=17 and LSF=1. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 3;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5], 17, 17); // @sic R5-174485 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170572 cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_EndOfSDU,

                        tsc_LSF_Last,

                        17, // @sic R5-174485 sic@

                        v_RLC_Data1);
……

//@siclog "Step 23" siclog@

    // The SS transmits one AMD PDU containing SDU#6 (34 bytes) in its data field, with the P-bit set.

    p_RLC_Rec.AM_VTS := 4;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170572 cat M1 timing sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_Poll,

                 tsc_RLC_SDU6);

……

  }

..
Change 6 – Correction to function ‘fl_EUTRA_7_2_3_21_TestBody’
	Function name
	fl_EUTRA_7_2_3_21_TestBody ()

	Reason for change
	In the current TTCN implementation for testcases 7.2.3.21 the TTCN updates the SFN with v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024. However, if the SFN is incremented to 0, the TTCN does not increase the HSFN. 

This needs to be implemented.

	Summary of change
	After the assignment of v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024, performed a check for the value of v_Timing.SFN.Number to be 0. 

In case it is 0, then the HSFN is being incremented by 1.

	TTCN module
	LTE\7_2\RLC_AM_Testcases.ttcn

	MCC160 Comment
	


Before  change
…

function fl_EUTRA_7_2_3_21_TestBody(inout RLC_SS_State p_RLC_Rec)
    runs on EUTRA_PTC
  { ……

//@siclog "Step 1" siclog@

    // SS creates 3 RLC SDUs of size 40 bytes segmented into two AMD PDUs each.

    // SS transmits AMD PDU#1 (SN=0), AMD PDU#2 (SN=1) and AMD PDU#4 (SN=3).

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, tsc_EUTRA_DelayBeforeIntraCellHO); // @sic R5s110030 sic@

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 0, 20);

    f_TxAMD_OnePDU (p_RLC_Rec,

                    cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5s180249, R5-182956 sic@

                    tsc_P_NoPoll,

                    tsc_FI_StartOfSDU,

                    v_RLC_Data1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024; // @sic R5s180249, R5-182956 sic@

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 20, 20);

    f_TxAMD_OnePDU (p_RLC_Rec,

                    cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                    tsc_P_NoPoll,

                    tsc_FI_EndOfSDU,

                    v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 3;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024; // @sic R5s180249, R5-182956 sic@

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU2], 20, 20);

    f_TxAMD_OnePDU (p_RLC_Rec,

                    cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                    tsc_P_NoPoll,

                    tsc_FI_EndOfSDU,

                    v_RLC_Data1);
……
  }
…
After change
…

function fl_EUTRA_7_2_3_21_TestBody(inout RLC_SS_State p_RLC_Rec)
    runs on EUTRA_PTC
  { 
……

//@siclog "Step 1" siclog@

    // SS creates 3 RLC SDUs of size 40 bytes segmented into two AMD PDUs each.

    // SS transmits AMD PDU#1 (SN=0), AMD PDU#2 (SN=1) and AMD PDU#4 (SN=3).

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, tsc_EUTRA_DelayBeforeIntraCellHO); // @sic R5s110030 sic@

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 0, 20);

    f_TxAMD_OnePDU (p_RLC_Rec,

                    cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5s180249, R5-182956 sic@

                    tsc_P_NoPoll,

                    tsc_FI_StartOfSDU,

                    v_RLC_Data1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024; // @sic R5s180249, R5-182956 sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 20, 20);

    f_TxAMD_OnePDU (p_RLC_Rec,

                    cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                    tsc_P_NoPoll,

                    tsc_FI_EndOfSDU,

                    v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 3;

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024; // @sic R5s180249, R5-182956 sic@

    if(v_Timing.SFN.Number == 0)

    {

      v_Timing.HSFN.Number := v_Timing.HSFN.Number + 1;

    }
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU2], 20, 20);

    f_TxAMD_OnePDU (p_RLC_Rec,

                    cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                    tsc_P_NoPoll,

                    tsc_FI_EndOfSDU,

                    v_RLC_Data1);
……
  }

..
